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Q{nmapmmupm
B Why & new partner is admitted ?
¢) What is insolveney of a partner ?

.

asked to prepare a Balance sheet as at 31" December, 2007 showing the amount

OR
G‘ The partnership deed of X, Y, & Z provides the following:

¥ & Z to be entiled to a salary of Rs. 6,000 & Rs. 4,200 P.a. Respectively.

10% Interest on Capital Accounts

Balance of Profits to be shared Equally.
On Retirement of a partner, deferred revenue expenses are to be written off in equally

X retires from the partnership as on 31™ December, 2007 & you are

payable to X on retiregent from the following Trial Balance and also Prepare P&L

Appropriation A/c rs Current A/c.
6! Balance

[ Particulars Particulars Rs
Y Current Alc 4,000 X Capital A/c 50,000
I Current A/c 3, Y Capital A/c 10,000
Deffered Revenue Expenses 6,500 apital A/c 5,000
Bad Debts 1,000 E& Creditors 17,500
Depreciation 500 Profit, 52,000
Office Expenses 7,000 S é ;

Salaries 8,000 2

Cash/Bank 11,000 /L

Sundry Debtors 35,000

Stock of Goods 15,000

Premises 37,500

Furniture & Fixtures 6,000

Total 1,34,500 Total 1,34,500
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